3.1 Exponential Growth - Worksheet
MCR3U
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1) An insect colony, with an initial population of 20, quadruples every day.

a) Complete the table.
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b) Is the relationship between the insect population and the number of days exponential? Explain how
you can tell.

Condecutive values in eachh difference lumnn have.
O~ Raho of 4 This wmakes it an expoert a) reloyovxsfnfﬁ :
2) Suppose that there is a rumour going around your school that next year all weekends will be extended

to three days. Initially, on day 0, five students know the rumour. Suppose that each person who knows
the rumour tells two more students the day after they hear about it. Also assume that no-one hears the

rumour more than once. pe
j = 5(3)

How many people will learn about the rumour...

i)onday 1 ii) on day 2

) 2
4= 50 3= 5(3)
y = 10 pearle 4 = HOpeple













































3) A bacteria colony has an initial population of 200. The population triples every week.

a) Write an equation to relate population, p, to time, t, in weeks.
t
plt) = 300 (3)
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b) Determine the approximate population afterx 10 days. = 7
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c) Determine the approximate population after 12 weeks.

(o(m - mo(aym\: 106 2%% 200
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4) An investment of $4000 earns interest, which causes it t¢ increase by 6% per year.

a) Write an equation for the amount, 4, in dollars, that the investment is worth as a function of time, n, in years.

Aln) = Yoo ( 1.06Y

b) Determine the amount that the investment is worth after
i) 2 years ii) 10 years iii) 20 years

A = Yado (1.0€) AUQ) = ta(105)° Ala0) = toao (1,06

< 63, = ¥/ 93%.5
— f hag, YO Vil et

c) What is the value and meaning of the function at n = 0?

A ()= 4000 (1.06)
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d) Graph the relation for n = 0 to n = 20.
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e) How long does it take for the investment to be worth $20 000?
2
16000 = Yoo ([06)
— A
5 = .06
N = /!O% (.06 ()

N Y 47.69 Lseari

5) A colony of bacteria starts with 400 cells and doubles in number every two days. A second colony of
bacteria starts with 200 cells and quadruples in number every day. Write an equation to model the

population of each colony, 4, to time, ¢, in days.

Colony L Colony
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BONUS: Bacteria A has an initial population of 500 and doubles every day, while bacteria
B has an initial population of 50 and triples daily. After how long will the population of B
overtake the population of A? What will their populations be at this point?
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Answers
1) a) - b) the values in each difference column increase by a factor
Day | Population | "';'r'::‘ces ‘Second of 4.

0 20 Differences

1 80 20 180

2 320 240 720

3 1280 2o 2880

4 5120 2,520 11 520

5 20 480 D
2) i) 10 ii) 20
3)a)p = 200(3)°* b)961 ) 106288200
4) a) A=4000(1.06)" b)i) $4494.40 ii) $7163.39 iii) $12 828.54

c) Atn =0, A =$4000, which is the initial value of the investment.
d) e) approximately 27.6 years

y

1000
14000

2.000
12006
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2000

A = 4D00(1.06)

t
5) A =400(2)z and A= 200(4)¢
































